Hindawi Publishing Corporation Journal of Inequalities and Applications Volume 2007, Article ID 46524, 10 pages doi:10.1155/2007/46524

Research Article Steffensen's Integral Inequality on Time Scales

Umut Mutlu Ozkan and Hüseyin Yildirim

Received 9 May 2007; Revised 13 June 2007; Accepted 29 June 2007

Recommended by Martin J. Bohner

We establish generalizations of Steffensen's integral inequality on time scales via the diamond- α dynamic integral, which is defined as a linear combination of the delta and nabla integrals.

Copyright © 2007 U. M. Ozkan and H. Yildirim. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Steffensen [1] stated that if *f* and *g* are integrable functions on (a, b) with *f* nonincreasing and $0 \le g \le 1$, then

$$\int_{b-\lambda}^{b} f(t) dt \le \int_{a}^{b} f(t)g(t) dt \le \int_{a}^{a+\lambda} f(t) dt,$$
(1.1)

where $\lambda = \int_{a}^{b} g(t)dt$. This inequality is usually called Steffensen's inequality in the literature. A comprehensive survey on Steffensen's inequality can be found in [2].

Recently, Anderson [3] has given the time scale version of Steffensen's integral inequality, using nabla integral as follows: let $a, b \in \mathbb{T}_{\kappa}^{\kappa}$ and let $f, g : [a, b]_{\mathbb{T}} \to \mathbb{R}$ be nabla integrable functions, with f of one sign and decreasing and $0 \le g \le 1$ on $[a, b]_{\mathbb{T}}$. Assume $\ell, \gamma \in [a, b]_{\mathbb{T}}$ such that

$$b - \ell \leq \int_{a}^{b} g(t) \nabla t \leq \gamma - a \quad \text{if } f \geq 0, t \in [a, b]_{\mathbb{T}},$$

$$\gamma - a \leq \int_{a}^{b} g(t) \nabla t \leq b - \ell \quad \text{if } f \leq 0t \in [a, b]_{\mathbb{T}}.$$

$$(1.2)$$

Then

$$\int_{\ell}^{b} f(t)\nabla t \le \int_{a}^{b} f(t)g(t)\nabla t \le \int_{a}^{\gamma} f(t)\nabla t.$$
(1.3)

In the theorem above which can be found in [3] as Theorem 3.1, we could replace the nabla integrals with delta integrals under the same hypotheses and get a completely analogous result.

Wu [4] has given some generalizations of Steffensen's integral inequality which can be written as the following inequality: let f, g, and h be integrable functions defined on [a,b] with f nonincreasing. Also let

$$0 \le g(t) \le h(t) \quad (t \in [a,b]).$$
 (1.4)

Then

$$\int_{b-\lambda}^{b} f(t)h(t)\,dt \le \int_{a}^{b} f(t)g(t)\,dt \le \int_{a}^{a+\lambda} f(t)h(t)\,dt,\tag{1.5}$$

where λ is given by

$$\int_{a}^{a+\lambda} h(t) dt = \int_{a}^{b} g(t) dt = \int_{b-\lambda}^{b} h(t) dt.$$
 (1.6)

The aim of this paper is to extend some generalizations of Steffensen's integral inequality to an arbitrary time scale. We obtain Steffensen's integral inequality using the diamond- α derivative on time scales. The diamond- α derivative reduces to the standard Δ derivative for $\alpha = 1$, or the standard ∇ derivative for $\alpha = 0$. We refer the reader to [5] for an account of the calculus corresponding to the diamond- α dynamic derivative. The paper is organized as follows: the next section contains basic definitions and theorems of time scales theory, which can also be found in [5–9], and of delta, nabla, and diamond- α dynamic derivatives. In Section 3, we present our results, which are generalizations of Steffensen's integral inequality on time scales.

2. Preliminaries

A time scale \mathbb{T} is an arbitrary nonempty closed subset of real numbers. The calculus of time scales was initiated by Stefan Hilger in his Ph.D. thesis [9] in order to create a theory that can unify discrete and continuous analysis. Let \mathbb{T} be a time scale. \mathbb{T} has the topology that it inherits from the real numbers with the standard topology. Let $\sigma(t)$ and $\rho(t)$ be the forward and backward jump operators in \mathbb{T} , respectively. For $t \in \mathbb{T}$, we define the forward, jump operator $\sigma : \mathbb{T} \to \mathbb{T}$ by

$$\sigma(t) = \inf\{s \in \mathbb{T} : s > t\},\tag{2.1}$$

while the backward jump operator $\rho : \mathbb{T} \to \mathbb{T}$ is defined by

$$\rho(t) = \sup\{s \in \mathbb{T} : s < t\}.$$
(2.2)

If $\sigma(t) > t$, we say that *t* is right-scattered, while if $\rho(t) < t$, we say that *t* is left-scattered. Points that are right-scattered and left-scattered at the same time are called isolated. If $\sigma(t) = t$, then *t* is called right-dense, and if $\rho(t) = t$, then *t* is called left-dense. Points that are right-dense and left-dense at the same time are called dense. Let $t \in \mathbb{T}$, then two mappings $\mu, \nu : \mathbb{T} \to [0, \infty)$ satisfying

$$\mu(t) := \sigma(t) - t, \qquad \nu(t) := t - \rho(t)$$
 (2.3)

are called the graininess functions.

We introduce the sets \mathbb{T}^{κ} , \mathbb{T}_{κ} , and $\mathbb{T}_{\kappa}^{\kappa}$ which are derived from the time scales \mathbb{T} as follows. If \mathbb{T} has a left-scattered maximum t_1 , then $\mathbb{T}^{\kappa} = \mathbb{T} - \{t_1\}$, otherwise $\mathbb{T}^{\kappa} = \mathbb{T}$. If \mathbb{T} has a right-scattered minimum t_2 , then $\mathbb{T}_{\kappa} = \mathbb{T} - \{t_2\}$, otherwise $\mathbb{T}_{\kappa} = \mathbb{T}$. Finally, $\mathbb{T}_{\kappa}^{\kappa} = \mathbb{T}^{\kappa} \cap \mathbb{T}_{\kappa}$.

Let $f : \mathbb{T} \to \mathbb{R}$ be a function on time scales. Then for $t \in \mathbb{T}^{\kappa}$, we define $f^{\Delta}(t)$ to be the number, if one exists, such that for all $\varepsilon > 0$, there is a neighborhood U of t such that for all $s \in U$,

$$\left| f(\sigma(t)) - f(s) - f^{\Delta}(t)[\sigma(t) - s] \right| \le \varepsilon |\sigma(t) - s|.$$

$$(2.4)$$

We say that f is delta differentiable on \mathbb{T}^{κ} , provided $f^{\Delta}(t)$ exists for all $t \in \mathbb{T}^{\kappa}$. Similarly, for $t \in \mathbb{T}_{\kappa}$, we define $f^{\nabla}(t)$ to be the number value, if one exists, such that for all $\varepsilon > 0$, there is a neighborhood V of t such that for all $s \in V$,

$$\left|f(\rho(t)) - f(s) - f^{\nabla}(t)[\rho(t) - s]\right| \le \varepsilon \left|\rho(t) - s\right|.$$

$$(2.5)$$

We say that *f* is nabla differentiable on \mathbb{T}_{κ} , provided $f^{\nabla}(t)$ exists for all $t \in \mathbb{T}_{\kappa}$.

If $f : \mathbb{T} \to \mathbb{R}$ is a function, then we define the function $f^{\sigma} : \mathbb{T} \to \mathbb{R}$ by $f^{\sigma}(t) = f(\sigma(t))$ for all $t \in \mathbb{T}$, that is, $f^{\sigma} = f \circ \sigma$.

If $f : \mathbb{T} \to \mathbb{R}$ is a function, then we define the function $f^{\rho} : \mathbb{T} \to \mathbb{R}$ by $f^{\rho}(t) = f(\rho(t))$ for all $t \in \mathbb{T}$, that is, $f^{\rho} = f \circ \rho$.

Assume that $f : \mathbb{T} \to \mathbb{R}$ is a function and let $t \in \mathbb{T}^{\kappa} (t \neq \min \mathbb{T})$. Then we have the following.

(i) If *f* is delta differentiable at *t*, then *f* is continuous at *t*.

(ii) If f is left continuous at t and t is right-scattered, then f is delta differentiable at t with

$$f^{\Delta}(t) = \frac{f^{\sigma}(t) - f(t)}{\mu(t)}.$$
 (2.6)

(iii) If t is right-dense, then f is delta differentiable at t if and only if the limit

$$\lim_{s \to t} \frac{f(t) - f(s)}{t - s} \tag{2.7}$$

exists as a finite number. In this case,

$$f^{\Delta}(t) = \lim_{s \to t} \frac{f(t) - f(s)}{t - s}.$$
 (2.8)

(iv) If f is delta differentiable at t, then

$$f^{\sigma}(t) = f(t) + \mu(t)f^{\Delta}(t).$$
(2.9)

Assume that $f : \mathbb{T} \to \mathbb{R}$ is a function and let $t \in \mathbb{T}_{\kappa}(t \neq \max \mathbb{T})$. Then we have the following.

(i) If *f* is nabla differentiable at *t*, then *f* is continuous at *t*.

(ii) If f is right continuous at t and t is left-scattered, then f is nabla differentiable at t with

$$f^{\nabla}(t) = \frac{f(t) - f^{\rho}(t)}{\nu(t)}.$$
(2.10)

(iii) If t is left-dense, then f is nabla differentiable at t if and only if the limit

$$\lim_{s \to t} \frac{f(t) - f(s)}{t - s} \tag{2.11}$$

exists as a finite number. In this case,

$$f^{\nabla}(t) = \lim_{s \to t} \frac{f(t) - f(s)}{t - s}.$$
 (2.12)

(iv) If f is nabla differentiable at t, then

$$f^{\rho}(t) = f(t) - \nu(t) f^{\nabla}(t).$$
(2.13)

A function $f : \mathbb{T} \to \mathbb{R}$ is called rd-continuous, provided it is continuous at all rightdense points in \mathbb{T} and its left-sided limits finite at all left-dense points in \mathbb{T} .

A function $f : \mathbb{T} \to \mathbb{R}$ is called ld-continuous, provided it is continuous at all left-dense points in \mathbb{T} and its right-sided limits finite at all right-dense points in \mathbb{T} .

A function $F : \mathbb{T} \to \mathbb{R}$ is called a delta antiderivative of $f : \mathbb{T} \to \mathbb{R}$, provided $F^{\Delta}(t) = f(t)$ holds for all $t \in \mathbb{T}^{\kappa}$. Then the delta integral of f is defined by

$$\int_{a}^{b} f(t)\Delta t = F(b) - F(a).$$
 (2.14)

A function $G : \mathbb{T} \to \mathbb{R}$ is called a nabla antiderivative of $g : \mathbb{T} \to \mathbb{R}$, provided $G^{\nabla}(t) = g(t)$ holds for all $t \in \mathbb{T}_{\kappa}$. Then the nabla integral of g is defined by

$$\int_{a}^{b} g(t)\nabla t = G(b) - G(a).$$
 (2.15)

Many other information sources concerning time scales can be found in [6–8].

Now, we briefly introduce the diamond- α dynamic derivative and the diamond- α dynamic integra, l and we refer the reader to [5] for a comprehensive development of the calculus of the diamond- α dynamic derivative and the diamond- α dynamic integration.

Let \mathbb{T} be a time scale and f(t) be differentiable on \mathbb{T} in the Δ and ∇ senses. For $t \in \mathbb{T}$, we define the diamond- α dynamic derivative $f^{\diamond_{\alpha}}(t)$ by

$$f^{\diamond_{\alpha}}(t) = \alpha f^{\triangle}(t) + (1 - \alpha) f^{\nabla}(t), \quad 0 \le \alpha \le 1.$$
(2.16)

Thus *f* is diamond- α differentiable if and only if *f* is Δ and ∇ differentiable. The diamond- α derivative reduces to the standard Δ derivative for $\alpha = 1$, or the standard ∇ derivative for $\alpha = 0$. On the other hand, it represents a "weighted dynamic derivative" for $\alpha \in (0, 1)$. Furthermore, the combined dynamic derivative offers a centralized derivative formula on any uniformly discrete time scale \mathbb{T} when $\alpha = 1/2$.

Let $f,g: \mathbb{T} \to \mathbb{R}$ be diamond- α differentiable at $t \in \mathbb{T}$. Then

(i) $f + g : \mathbb{T} \to \mathbb{R}$ is diamond- α differentiable at $t \in \mathbb{T}$ with

$$(f+g)^{\diamond_{\alpha}}(t) = f^{\diamond_{\alpha}}(t) + g^{\diamond_{\alpha}}(t); \qquad (2.17)$$

(ii) for any constant $c, cf : \mathbb{T} \to \mathbb{R}$ is diamond- α differentiable at $t \in \mathbb{T}$ with

$$(cf)^{\diamond_{\alpha}}(t) = cf^{\diamond_{\alpha}}(t); \qquad (2.18)$$

(iii) $fg: \mathbb{T} \to \mathbb{R}$ is diamond- α differentiable at $t \in \mathbb{T}$ with

$$(fg)^{\diamond_{\alpha}}(t) = f^{\diamond_{\alpha}}(t)g(t) + \alpha f^{\sigma}(t)g^{\Delta}(t) + (1-\alpha)f^{\rho}(t)g^{\nabla}(t).$$
(2.19)

Let $a, t \in \mathbb{T}$, and $h : \mathbb{T} \to \mathbb{R}$. Then the diamond- α integral from *a* to *t* of *h* is defined by

$$\int_{a}^{t} h(\tau) \diamondsuit_{\alpha} \tau = \alpha \int_{a}^{t} h(\tau) \Delta \tau + (1 - \alpha) \int_{a}^{t} h(\tau) \nabla \tau, \quad 0 \le \alpha \le 1.$$
(2.20)

We may notice that since the \Diamond_{α} integral is a combined Δ and ∇ integral, we, in general, do not have

$$\left(\int_{a}^{t}h(\tau)\Diamond_{\alpha}\tau\right)^{\diamond_{\alpha}} = h(t), \quad t \in \mathbb{T}.$$
(2.21)

Let $a, b, t \in \mathbb{T}$, $c \in \mathbb{R}$, then

(i) $\int_{a}^{t} [f(\tau) + g(\tau)] \Diamond_{\alpha} \tau = \int_{a}^{t} f(\tau) \Diamond_{\alpha} \tau + \int_{a}^{t} g(\tau) \Diamond_{\alpha} \tau,$ (ii) $\int_{a}^{t} cf(\tau) \Diamond_{\alpha} \tau = c \int_{a}^{t} f(\tau) \Diamond_{\alpha} \tau,$ (iii) $\int_{a}^{t} f(\tau) \Diamond_{\alpha} \tau = \int_{a}^{b} f(\tau) \Diamond_{\alpha} \tau + \int_{b}^{t} f(\tau) \Diamond_{\alpha} \tau.$

3. Main results

Throughout this section, we suppose that \mathbb{T} is a time scale, a < b are points in \mathbb{T} . For a *q*-difference equation version of the following result, including proof techniques, see [10]. We refer the reader to [10] for an account of *q*-calculus and its applications.

THEOREM 3.1. Let $a, b \in \mathbb{T}_{\kappa}^{\kappa}$ with a < b and f, g, and $h : [a,b]_{\mathbb{T}} \to \mathbb{R}$ be \Diamond_{α} -integrable functions, with f of one sign and decreasing and $0 \le g(t) \le h(t)$ on $[a,b]_{\mathbb{T}}$. Assume $\ell, \gamma \in [a,b]_{\mathbb{T}}$

such that

$$\int_{\ell}^{b} h(t) \Diamond_{\alpha} t \leq \int_{a}^{b} g(t) \Diamond_{\alpha} t \leq \int_{a}^{\gamma} h(t) \Diamond_{\alpha} t \quad if f \geq 0, \ t \in [a,b]_{\mathbb{T}},$$

$$\int_{a}^{\gamma} h(t) \Diamond_{\alpha} t \leq \int_{a}^{b} g(t) \Diamond_{\alpha} t \leq \int_{\ell}^{b} h(t) \Diamond_{\alpha} t \quad if f \leq 0, \ t \in [a,b]_{\mathbb{T}}.$$
(3.1)

Then

$$\int_{\ell}^{b} f(t)h(t)\Diamond_{\alpha}t \leq \int_{a}^{b} f(t)g(t)\Diamond_{\alpha}t \leq \int_{a}^{\gamma} f(t)h(t)\Diamond_{\alpha}t.$$
(3.2)

Proof. The proof given in the *q*-difference case [10] can be extended to general time scales. We prove only the left inequality in (3.2) in the case $f \ge 0$. The proofs of the other cases are similar. Since *f* is decreasing and *g* is nonnegative, we get

$$\int_{a}^{b} f(t)g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} f(t)h(t)\Diamond_{\alpha}t = \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t + \int_{\ell}^{b} f(t)g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} f(t)h(t)\Diamond_{\alpha}t
= \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} f(t)[h(t) - g(t)]\Diamond_{\alpha}t
\ge \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{\ell}^{b} [h(t)-g(t)]\Diamond_{\alpha}t
= \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{a}^{b} g(t)\Diamond_{\alpha}t + f(\ell)\int_{\ell}^{b} g(t)\Diamond_{\alpha}t
\ge \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{a}^{b} g(t)\Diamond_{\alpha}t + f(\ell)\int_{\ell}^{b} g(t)\Diamond_{\alpha}t
= \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{a}^{b} g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} g(t)\Diamond_{\alpha}t
= \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{a}^{b} g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} g(t)\Diamond_{\alpha}t
= \int_{a}^{\ell} f(t)g(t)\Diamond_{\alpha}t - f(\ell)\int_{a}^{\ell} g(t)\Diamond_{\alpha}t - \int_{\ell}^{b} g(t)\Diamond_{\alpha}t$$
(3.3)

Remark 3.2. When $\alpha = 0$ and setting h(t) = 1, inequality (3.2) reduces to inequality [3, (3.1)].

In order to obtain our other results, we need the following lemma.

LEMMA 3.3. Let $a, b \in \mathbb{T}_{\kappa}^{\kappa}$ with a < b and f, g, and $h : [a,b]_{\mathbb{T}} \to \mathbb{R}$ be \Diamond_{α} -integrable functions. Suppose also that $\ell, \gamma \in [a,b]_{\mathbb{T}}$ such that

$$\int_{a}^{\gamma} h(t) \diamondsuit_{\alpha} t = \int_{a}^{b} g(t) \diamondsuit_{\alpha} t = \int_{\ell}^{b} h(t) \diamondsuit_{\alpha} t.$$
(3.4)

U. M. Ozkan and H. Yildirim 7

Then

$$\int_{a}^{b} f(t)g(t) \diamondsuit_{\alpha} t = \int_{a}^{\gamma} \left(f(t)h(t) - [f(t) - f(\gamma)][h(t) - g(t)] \right) \diamondsuit_{\alpha} t + \int_{\gamma}^{b} [f(t) - f(\gamma)]g(t) \diamondsuit_{\alpha} t,$$
(3.5)

$$\int_{a}^{b} f(t)g(t) \Diamond_{\alpha} t = \int_{a}^{\ell} \left[f(t) - f(\ell) \right] g(t) \Diamond_{\alpha} t + \int_{\ell}^{b} \left(f(t)h(t) - \left[f(t) - f(\ell) \right] \left[h(t) - g(t) \right] \right) \Diamond_{\alpha}.$$
(3.6)

Proof. We prove the integral identity (3.5). By direct computation, we have

$$\int_{a}^{\gamma} (f(t)h(t) - [f(t) - f(\gamma)][h(t) - g(t)]) \Diamond_{\alpha} t - \int_{a}^{b} f(t)g(t) \Diamond_{\alpha} t$$

$$= \int_{a}^{\gamma} (f(t)h(t) - f(t)g(t) - [f(t) - f(\gamma)][h(t) - g(t)]) \Diamond_{\alpha} t$$

$$+ \int_{a}^{\gamma} f(t)g(t) \Diamond_{\alpha} t - \int_{a}^{b} f(t)g(t) \Diamond_{\alpha} t$$

$$= \int_{a}^{\gamma} f(\gamma)[h(t) - g(t)] \Diamond_{\alpha} t - \int_{\gamma}^{b} f(t)g(t) \Diamond_{\alpha} t$$

$$= f(\gamma) \left(\int_{a}^{\gamma} h(t) \Diamond_{\alpha} t - \int_{a}^{\gamma} g(t) \Diamond_{\alpha} t \right) - \int_{\gamma}^{b} f(t)g(t) \Diamond_{\alpha} t.$$
(3.7)

If we apply assumption

$$\int_{a}^{y} h(t) \diamondsuit_{\alpha} t = \int_{a}^{b} g(t) \diamondsuit_{\alpha} t$$
(3.8)

to (3.7), we obtain

$$f(\gamma) \left(\int_{a}^{\gamma} h(t) \Diamond_{\alpha} t - \int_{a}^{\gamma} g(t) \Diamond_{\alpha} t \right) - \int_{\gamma}^{b} f(t) g(t) \Diamond_{\alpha} t$$

$$= f(\gamma) \left(\int_{a}^{b} g(t) \Diamond_{\alpha} t - \int_{a}^{\gamma} g(t) \Diamond_{\alpha} t \right) - \int_{\gamma}^{b} f(t) g(t) \Diamond_{\alpha} t$$

$$= f(\gamma) \int_{\gamma}^{b} g(t) \Diamond_{\alpha} t - \int_{\gamma}^{b} f(t) g(t) \Diamond_{\alpha} t$$

$$= \int_{\gamma}^{b} [f(\gamma) - f(t)] g(t) \Diamond_{\alpha} t.$$
(3.9)

By combining the integral identities (3.7) and (3.9), we have integral identity (3.5). The proof of identity (3.6) is similar to that of integral identity (3.5) and is omitted.

THEOREM 3.4. Let $a, b \in \mathbb{T}_{\kappa}^{\kappa}$ with a < b and f, g and $h : [a,b]_{\mathbb{T}} \to \mathbb{R}$ be \Diamond_{α} -integrable functions, f of one sign and decreasing and $0 \le g(t) \le h(t)$ on $[a,b]_{\mathbb{T}}$. Assume $\ell, \gamma \in [a,b]_{\mathbb{T}}$ such that

$$\int_{a}^{\gamma} h(t) \diamondsuit_{\alpha} t = \int_{a}^{b} g(t) \diamondsuit_{\alpha} t = \int_{\ell}^{b} h(t) \diamondsuit_{\alpha} t.$$
(3.10)

Then

$$\begin{split} \int_{\ell}^{b} f(t)h(t) \Diamond_{\alpha} t &\leq \int_{\ell}^{b} \left(f(t)h(t) - \left[f(t) - f(\ell) \right] \left[h(t) - g(t) \right] \right) \Diamond_{\alpha} t \\ &\leq \int_{a}^{b} f(t)g(t) \Diamond_{\alpha} t \\ &\leq \int_{a}^{\gamma} \left(f(t)h(t) - \left[f(t) - f(\gamma) \right] \left[h(t) - g(t) \right] \right) \Diamond_{\alpha} t \\ &\leq \int_{a}^{\gamma} f(t)h(t) \Diamond_{\alpha} t. \end{split}$$

$$(3.11)$$

Proof. In view of the assumptions that the function f is decreasing on $[a,b]_T$ and that $0 \le g(t) \le h(t)$, we conclude that

$$\int_{a}^{\ell} [f(t) - f(\ell)]g(t) \diamondsuit_{\alpha} t \ge 0, \qquad (3.12)$$

$$\int_{\ell}^{b} \left[f(\ell) - f(t) \right] \left[h(t) - g(t) \right] \diamondsuit_{\alpha} t \ge 0.$$
(3.13)

Using the integral identity (3.6) together with the integral inequalities (3.12) and (3.13), we have

$$\int_{\ell}^{b} f(t)h(t)\Diamond_{\alpha}t \leq \int_{\ell}^{b} \left(f(t)h(t) - \left[f(t) - f(\ell)\right]\left[h(t) - g(t)\right]\right)\Diamond_{\alpha}t \leq \int_{a}^{b} f(t)g(t)\Diamond_{\alpha}t.$$
(3.14)

In the same way as above, we can prove that

$$\int_{a}^{b} f(t)g(t)\Diamond_{\alpha}t \leq \int_{a}^{\gamma} (f(t)h(t) - [f(t) - f(\gamma)][h(t) - g(t)])\Diamond_{\alpha}t$$

$$\leq \int_{a}^{\gamma} f(t)h(t)\Diamond_{\alpha}t.$$
(3.15)

The proof of Theorem 3.4 is completed by combining the inequalities (3.14) and (3.15). $\hfill\square$

THEOREM 3.5. Let $a, b \in \mathbb{T}_{\kappa}^{\kappa}$ with a < b and f, g, h and $\varphi : [a, b]_{\mathbb{T}} \to \mathbb{R}$ be \Diamond_{α} -integrable functions, f of one sign and decreasing and $0 \le \varphi(t) \le g(t) \le h(t) - \varphi(t)$ on $[a, b]_{\mathbb{T}}$. Assume ℓ, γ is given by

$$\int_{a}^{\gamma} h(t) \Diamond_{\alpha} t = \int_{a}^{b} g(t) \Diamond_{\alpha} t = \int_{\ell}^{b} h(t) \Diamond_{\alpha} t$$
(3.16)

such that $\ell, \gamma \in [a, b]_{\mathbb{T}}$. Then

$$\int_{\ell}^{b} f(t)h(t)\Diamond_{\alpha}t + \int_{a}^{b} \left| \left[f(t) - f(\ell) \right] \varphi(t) \right| \Diamond_{\alpha}t \\
\leq \int_{a}^{b} f(t)g(t)\Diamond_{\alpha}t \leq \int_{a}^{\gamma} f(t)h(t)\Diamond_{\alpha}t - \int_{a}^{b} \left| \left[f(t) - f(\gamma) \right] \varphi(t) \right| \Diamond_{\alpha}t.$$
(3.17)

Proof. By the assumptions that the function f is decreasing on $[a,b]_T$ and that

$$0 \le \varphi(t) \le g(t) \le h(t) - \varphi(t) \quad (t \in [a, b]_{\mathbb{T}}), \tag{3.18}$$

it follows that

$$\int_{a}^{\gamma} [f(t) - f(\gamma)] [h(t) - g(t)] \Diamond_{\alpha} t + \int_{\gamma}^{b} [f(\gamma) - f(t)] g(t) \Diamond_{\alpha} t$$

$$= \int_{a}^{\gamma} |f(t) - f(\gamma)| [h(t) - g(t)] \Diamond_{\alpha} t + \int_{\gamma}^{b} |f(\gamma) - f(t)| g(t) \Diamond_{\alpha} t$$

$$\geq \int_{a}^{\gamma} |f(t) - f(\gamma)| \varphi(t) \Diamond_{\alpha} t + \int_{\gamma}^{b} |f(\gamma) - f(t)| \varphi(t) \Diamond_{\alpha} t$$

$$= \int_{a}^{b} |[f(t) - f(\gamma)] \varphi(t)| \Diamond_{\alpha} t.$$
(3.19)

Similarly, we find that

$$\int_{a}^{\ell} \left[f(t) - f(\ell) \right] g(t) \Diamond_{\alpha} t + \int_{\ell}^{b} \left[f(\ell) - f(t) \right] \left[h(t) - g(t) \right] \Diamond_{\alpha} t \ge \int_{a}^{b} \left| \left[f(t) - f(\ell) \right] \varphi(t) \right| \Diamond_{\alpha} t.$$
(3.20)

By combining the integral identities (3.5) and (3.6) and the inequalities (3.19) and (3.20), we have inequality (3.17).

Remark 3.6. When $\alpha = 0$ and setting h(t) = 1 and $\varphi(t) = 0$, inequality (3.17) reduces to [3, inequality (3.1)].

Acknowledgment

The authors thank the referees for suggestions which have improved the final version of this paper.

References

- [1] J. F. Steffensen, "On certain inequalities between mean values, and their application to actuarial problems," *Skandinavisk Aktuarietidskrift*, vol. 1, pp. 82–97, 1918.
- [2] D. S. Mitrinović, J. E. Pečarić, and A. M. Fink, *Classical and New Inequalities in Analysis*, vol. 61 of *Mathematics and Its Applications (East European Series)*, Kluwer Academic Publishers, Dordrecht, The Netherlands, 1993.
- [3] D. R. Anderson, "Time-scale integral inequalities," *Journal of Inequalities in Pure and Applied Mathematics*, vol. 6, no. 3, article 66, p. 15, 2005.
- [4] S.-H. Wu and H. M. Srivastava, "Some improvements and generalizations of Steffensen's integral inequality," to appear in *Applied Mathematics and Computation*.
- [5] Q. Sheng, M. Fadag, J. Henderson, and J. M. Davis, "An exploration of combined dynamic derivatives on time scales and their applications," *Nonlinear Analysis: Real World Applications*, vol. 7, no. 3, pp. 395–413, 2006.
- [6] F. M. Atici and G. Sh. Guseinov, "On Green's functions and positive solutions for boundary value problems on time scales," *Journal of Computational and Applied Mathematics*, vol. 141, no. 1-2, pp. 75–99, 2002.

- 10 Journal of Inequalities and Applications
- [7] M. Bohner and A. Peterson, *Dynamic Equations on Time Scales. An Introduction with Applications*, Birkhäuser, Boston, Mass, USA, 2001.
- [8] M. Bohner and A. Peterson, Eds., *Advances in Dynamic Equations on Time Scales*, Birkhäuser, Boston, Mass, USA, 2003.
- [9] S. Hilger, Ein Maβkettenkalkül mit Anwendung auf Zentrmsmannigfaltingkeiten, Ph.D. thesis, University of Würzburg, Würzburg, Germany, 1988.
- [10] H. Gauchman, "Integral inequalities in q-calculus," Computers & Mathematics with Applications, vol. 47, no. 2-3, pp. 281–300, 2004.

Umut Mutlu Ozkan: Department of Mathematics, Faculty of Science and Arts, Kocatepe University, 03200 Afyon, Turkey Email address: umut_ozkan@aku.edu.tr

Hüseyin Yildirim: Department of Mathematics, Faculty of Science and Arts, Kocatepe University, 03200 Afyon, Turkey *Email address*: hyildir@aku.edu.tr